3.1 Carbon atoms found on earth were synthesized:
1) by the breakdown of water in lakes
2) during the first millisecond of the big bang
3) by photosynthesis

4) in the interior of stars and we are all formed from stardust
5) by respiration
3.2 Proteins are better catalysts than RNA because
1) RNA contains more phosphate than proteins
2) RNA is acidic
3) Proteins contain nitrogen
4) there is more diversity in the nucleotides than in the amino acids
5) there is more diversity in the amino acids than in the nucleotides
3.3 Enzymes are:

1) proteins

2) DNA
3) molecules that speed up reactions
4) both 1 and 2

5) both 1 and 3

3.4 Occam’s Razor is used to:

1) make anatomical section of liver tissue
2) maximize the number of data points
3) minimize the number of data points
4) maximize the number of assumption
5) minimize the number of assumptions
3.5 Clays are considered to be evolutionarily challenged because:
1) they can not replicate as fast as nucleic acids
2) they are good catalysts
3) they contain cations and anions
4) they are crystalline
5) they do not contain phosphorus
3.6 Ribose is formed by the combination of:

1) 5 cyanides
2) 5 formaldehydes
3) adenosine and phosphate
4) 5 adenosines
5) Water and water vapor

3.7 Adenine is formed by the combination of:

1) 5 cyanides
2) 5 formaldehydes
3) adenosine and phosphate
4) 5 adenosines

5) Water and water vapor

3.8 Adenine and ribose combine to form adenosine as a result of:

1) 
a polymerization reaction
2) a hydration reaction 
3) the vital force
4) a dehydration reaction

5) atom smashing

3.9 Using his swan-shaped flasks, Pasteur showed that:

1) life could be generated spontaneously
2) life could not be generated spontaneously
3) a little chicken soup is good for the soul
4) swan eggs can hatch in a laboratory flask 
5) both 1 and 4

3.10 The idea that the expanding universe started as a singularity about 13 billion years ago is known as:

1) the big cheese
2) the big bang
3) the big dipper
4) prebiotic evolution

5) evolution by natural selection
3.11 Amino acids can only be created under prebiotic conditions when: 
1) A carbon source is present
2) A carbon source is excluded from the mixture
3) A nitrogen source is excluded from the mixture
4) A carbon source and a nitrogen source is included in the mixture

5) Both 2 and 3
3.12. The theory that life originated in outer space and came to Earth on meteorites in the form of cosmozoa, microbes, spores or seeds is known as the theory of:

1) the Martian invasion.
2) H. G. Wells.
3) panspermia.
4) transgalactic gardening.
5) universal gardening.
3.13. The production of a sufficient diversity and quantity of organic chemicals that can coalesce to form life under early-Earth conditions:
1) requires enormous amounts of energy.

2) results in tiny yields.

3) is statistically highly improbable.

4) is possible.

5) all of the above.
